                             Chapter 11 – Algebra 2 – Selected Answers ‘Evens’                 p.1
Section 11.1 (p.504)

Oral Ex/ 1. d = 4; 19, 23  2. d = –6; –3, –9  3. d = 3; 13, 22  4. d = 25; –25, 0 

5. r = 2; 48, 96  6. r = –2; 16, –32  7. r = 10; 1, 1000  8. r = 1/3; 3, 1  

9. –1, –3, –5, –7; arithmetic  10. 1/2, 1/3, 1/4, 1/5; neither  11. 3, 9, 27, 81; geometric 

12. 0, 3, 8, 15; neither  13. 18, 23  14. 25, 35    
Written Exercises

2. A; 21, 25  4. G; 1, ¼  6. A; 0, –16  8. G; 2, –1  10. N; 5/16, 6/17  12. A; 3, 5, 7, 9
14. G; 6, 18, 54, 162  16. A; 9, 5, 1, –3  18. A; 1, 2, 3, 4  20a. G  b. A  22. 57, 81  

24. –7, –39  26. 121, 364  28. 56, 92  30. 72, 110  32a. 35, 51  b. 145  34a. 11, 16  b. 22 

Section 11.2 (p.509)

Oral Ex/ 1. tn= n – 2  2. tn = 2n  3. tn = 3n – 3  4. 34  5. –40  6. 103
Written Exercises 

2. tn  =  –10n + 40  4. tn = 5n – 11  6. tn = –9n + 22  8. 243  10. 53  12. –9973  14. 6.5 

16. –36  18. 13  20. 5.7  22. 
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  24a. 25, 25  b. 22.5, 30, 37.5  c. 21, 27, 33, 39 

26a. 20/3, 40/3  b. 5, 10, 15  c. 4, 8, 12, 16  28. 54  30. 64  32. n = 24 
Section 11.3 (p.512)

Oral Ex/ 1. 
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  8a. 2  b. –9  c. 6

Written Exercises

2. 
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  8. 10,240  10. –2187  

12. –3,906,250  14. –768  16. 8/3  18. a25b74  20. 
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  24. 12, –36  
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  28. A; tn = 2n + 1  30. A; tn = –17 + (n – 1)6  32. G; 
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 40. x = 16, y = 24 or x = 1, y = –6  

Problems

2. $16,224  4. $95.23  6. 95.77 m  8. $512,000  10a. 14,432 ft  b. 1440 ft downward  

12. $138,240  14. t1 = 220, t13 = 440; 440 = 220r13-1 hence 2 = r12 and 
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Section 11.4 (p.521)

Oral Ex/ 1. m  2. 4m2 – 3  3. 2, 5  4. 13, 97  5. 1+2+3  6. 3+2+1  7. 4+8+12+16 20 

8. 1+8+27+64  9. 
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11. same  12. different  13. different  14. same
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Section 11.4 (continued) - Written Exercises

2. 3+6+9+12+15+18+21+24  4. 10+13+16+19+22+25+28  6. 
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8. 1 – 8 + 81 – 1024  10. 
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Section 11.5 (p.527)

Oral Ex/ 1. 80  2. 33  3. 31/16  4. 15
Written Exercises

2. 11,600  4. 5675  6. 576  8. 165  10. 100  12. 630  14. –341  16. 
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20a. 39  b. 57.275  22. 486  24. 82,350  26a. 12,207,030  b. 
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30. Using: 
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 and if n is even, then 
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32. 4n + 3  34a. 0  b. 
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  36. 3267  38. 8178

Problems

2. 390  4. 216  6. $48,973.77  8. A: $231, B: $20,971.51  10. B; $19,373.65  12. 8 

Section 11.6 (p.533)

Oral Ex/ 1. 1/3, yes  2. –1/3, yes  3. 3/2, no  4. 2/3  yes  5. 
[image: image44.wmf]3

, no  6. –1/8, yes  

7. 4/5, yes  8. 1.1, no  9. –.35, yes  10. 1/10, yes

Written Exercises

2. 16  4. 81  6. 2500  8. 3/10  10. 2/3  12. 2/3  14. S1 = 9, S2 = 9.9, S3 = 9.99, S4 = 9.999, 

S5 = 9.9999, S = 10  16. S1 = 1/3, S2 = 4/9, S3 = 13/27, S4 = 40/81, S5 = 121/243, S = ½  

18. 4/9  20. 4/11  22. 116/111  24. 40, 32, 25.6  26. 75, 30, 12  28. 1000/9 and 1000/11
or 
[image: image45.wmf]111.1 and 90.9090...

 30. 1/(1 – x)2 
Problems

2. 2/3 mi east  4. 60 cm  6. 
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  8. 390 m  10a. .01095 m  b. 18.75 m
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12. The number of new squares is 
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or 4,20,100,… a geometric sequence.  Two sides of each new square get added to the original perimeter. After 4(1), the additions begin with four new squares to get us 4(2(1/3)), then the next 20 new squares have sides 1/3 of 1/3 or 1/9 in length (two sides per new square again) so we get 20(2(1/9), then 100(2(1/27)), …
After the initial perimeter of 4(1), we have a geometric series whose general term is: 
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. So for n > 1, we have a common ratio of 5/3 which is greater than 1. Hence the sum increases without bound. We say the sum is infinite.
14. Similar to #12 above, after the first stage, each side is made up of more sides with length 1/3 that of the previous side. Each side will become 4 sides in the next stage so the perimeter will be 4(1/3) or 4/3 as much as before. Again we have a geometric series with common ratio, r > 1 and so the perimeter grows without bound.

Section 11.7 (p.538)

Oral Ex/ 1. a8 + 8a7b + 28a6b2 + 56a5b3  2. 1,9,36,84,126,126,84,36,9,1

3a. 2  b. 7  c. 10  4a. a10  b. 27m3  c. x15  5a. –b7  b. 16  c. n16 

Written Exercises

2. x4 + 4x3y + 6x2y2 + 4xy3 + y4  4. p6 – 6p5q + 15p4q2 – 20p3q3 + 15p2q4 – 6pq5 + q6 

6. x3 – 6x2 + 12x – 8  8. 16y4 – 96y3 + 216y2 – 216y + 81  
10. 
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14. 231p2q20 – 22pq21 + q22  16. 6435p7q8  18. 16a7b + 112a5b3 + 112a3b5 + 16ab7  

20. x8 – 4x6 + 6x4 – 4x2 + 1  22. 9223.68 

Section 11.8 (p.542)

Oral Ex/ 1. 720  2. 5040  3. 20  4. 8  5. 100  6. 380  7. 120  8. 210  9. n + 1  10. n2 – n  

11. 
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14a. a12 + 12a11b + 66a10b2 + 220a9b3  b. a12 – 12a11b  + 66a10b2 – 220a9b3  

16a. a21 + 21a20b + 210a19b2 + 1330a18b3  b. c21 – 21c20d2 + 210c19d4 – 1330c18d6 

18. -105a2b13  20. 18st17  22. -84x2y5  24. 270a2b9  26. False  28. 5th term: 495

Chapter 11 Review (p.545)

2. c    4. c    6. b    8. b    10. b    12. c

Chapter 11 Test (p.546)

1. Neither 
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 2. 4n – 11  3. 12.5, 24, 35.5  4. -1408  5. 2  6. 
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7. –270 8. 242  

9. 625  10. a16+8a14b+28a12b2+5a10b3+70a8b4+56a6b5+28a4b6+8a2b7+b8  11. -312x2y11
Chapters 8-11 Cumulative Review (p.547)
2. 4x2 – 6x + 3 + 
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  4. C(3, -4), R=2  6. 
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  8. (2,3) (-2,3)  10. (-1,3,8)

12a. 3  b. 3  14. ½  16. ¼  18. 9  20. Arithmetic; 187  22. 312x2y11
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